To find the punch line to the Easter joke, work out the duration of time
for each question. Next, use the grid to find the letter that corresponds
with each answer and write it in the egg. Then crack the code.

The first one is done for you.

Questions: How does the Easter bunny stay fit and healthy?

1. 7.15 p.m. to 10.20 p.m. = 3hr 05m

2.5.00 p.m. to 8.20 p.m. =

3.10.00 a.m. to 1.25p.m. =

4. 9.50 a.m. to 10.40 a.m.

5.8.30 a.m. to 11.00 a.m.

Answer | 2hr 55m | 50m 3hr 0O5m | 4hr 26m
Letter d e s )
Answer | 4hr 6hr 3hr 20m | 2hr
Letter L r g e

Answer:

6. 4.20 p.m. to 6.00 p.m. =

7.11.00 p.m. to 4.20 a.m. =

8. 3.45 a.m. to 7.00 a.m.

9.1.10 p.m. to 3.10 p.m.

3hr 25m | 5hr 40m | 40m 3hr 05m | 1hr 40m

g p s e c
5hr 20m | 1hr 20m | 2hr 30m | 1hr 2hr 50m
i w r n c



2. 5.00 p.m. to 8.20 p.m. = 3hr 20m

Easter Joke Duration (12 Hour)
Code Breaker Answers

1. 7.15 p.m. to 10.20 p.m. = 3hr 05m

3.10.00 a.m. to 1.25p.m. = 3 hr 25m

4, 9.50 a.m. to 10.40 a.m. = 50m

5.8.30 a.m. to 11.00 a.m. = 2hr 30m

6. 4.20 p.m. to 6.00 p.m. = 1hr 40m

7.11.00 p.m. to 4.20 a.m. = 5hr 20m

8.3.45 a.m. to 7.00 a.m. = 3hr 15m

9.1.10 p.m. to 3.10 p.m. = 2hr

Answer [ 2hr 55m [ 50m 3hr 05m | 4hr 26m | 3hr 25m | 5hr 40m | 40m 3hr 05m | 1hr 40m
Letter d e s o g p s e c
Answer | 4hr 6hr 3hr 20m | 2hr 5hr 20m | 1hr 20m | 2hr 30m | 1hr 2hr 50m
Letter L r g e i w r n c
Answer:
e g g e c t s e !
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To find the punch line to the Easter joke, work out the duration of time for
each question. Next, use the grid to find the letter that corresponds with
each answer and write it in the egg. Then crack the code. The first one

is done for you.

Questions: What do you call a rabbit with fleas?

1.7.15 p.m. to 10.20 p.m.

2.8.15a.m.to 11.45 a.m.

3.5.20 p.m. to 8.15 p.m. =

4. 4.23 p.m. to 11.36 p.m.

5.9.56 am. to 10.19 a.m.

Answer
Letter
Answer

Letter

Answer:

3hr 40m 3hr 11m  3hr O5m  45m

t

7hr 13m | 4hr 08m | 1hr 14m  2hr 29m

S

y

k

b

h

3hr 05m

S

n

o

Il

.6.16 pm. to 11.27 p.m.

~

. 1.11 p.m. to 3.40 p.m.

8. 3.45am.to 7.12 a.m.

9.11.17 p.m. to 2.28 a.m.

S5hr 11m | 5hr 3hr 27m | 2hr 55m | 2hr 10m
u n n g L
7hr 35m | 3hr 30m | 5hr 22m | 1hr 33m | 23m

r u p g b



Easter Joke Duration (12 Hour)
Code Breaker Answers

To find the punch line to the Easter joke, work out the duration of time for each question.
Next, use the grid to find the letter that corresponds with each answer and write it in the egg.
Then crack the code. The first one is done for you.

Questions: What do you call a rabbit with fleas?

1. 7.15 p.m. to 10.20 p.m. = 3hr 05m

2.8.15 a.m. to 11.45 a.m. = 3hr 30m 6. 6.16 p.m. to 11.27 p.m. = 5hr 11m
3.5.20 p.m. to 8.15 p.m. = 2hr 55m 7.1.11 p.m. to 3.40 p.m. = 2hr 29m

4, 4,23 pm. to 11.36 p.m. = 7Thr 13m 8.3.45a.m.to 7.12 am. = 3hr 27m

5.9.56 a.m. to 10.19 a.m. = 23m 9.11.17 p.m. to 2.28 a.m. = 3hr 11m
m 3hr 40m | 3hr 11m | 3hr O5m | 45m 5hr 11m | 5hr 3hr 27m | 2hr 55m | 2hr 10m
Letter t y b s u n n g L

Answer 7hr 13m | 4hr 08m | 1hr 14m | 2hr 29m | 7hr 35m | 3hr 30m | 5hr 22m | 1hr 33m | 23m

Letter s k h n r u p g b
Answer:
b u g s b u n n y!
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To find the punch line to the Easter joke, work out the duration of time for
each question. Next, use the grid to find the letter that corresponds with
each answer and write it in the egg. Then crack the code. The first one is
done for you.

Questions: Why was the rabbit rubbing his head?

1. 10.03 a.m. to 1.46 p.m. = 3hr 43m 8.7.16 p.m. to 2.27 a.m. =

2.8.11 am. to 10.48 a.m.

9.3.13 pm. to 9.27 p.m. =

10. 3.38 a.m. t0 9.16 a.m. =

3.7.22 p.m. to 9.18 p.m.

4. 4.23 p.m. to 8.29 p.m.

Il

11. 11.17 p.m. to 4.28 a.m. =

5.8.54 am. to 11.19 a.m. = 12. 5.03 p.m. to 11.48 p.m. =

13. 2.37 am. to 10.22 a.m. =

6. 4.37 p.m. to 0.18 a.m.

7.9.55 a.m. to 4.23 p.m. 14. 4.16 p.m. to 1.08 p.m. =

Answer 2hr 37m | 6hr 14m | 6hr 52m | 7hr 41m | 1hr 43m | 3hr 43m | 7hr 11m | 5hr 24m | 2hr 10m
Letter e g b a f h e o a
Answer 2hr 25m | 7hr 45m | 8hr 40m | 1hr 56m | 5hr 38m | 6hr 45m | 5hr 11m | 8hr 52m | 6hr 28m

Letter d h r h g c a e n

Answer:



Easter Joke Duration (12 Hour)
Code Breaker Answers

To find the punch line to the Easter joke, work out the duration of time for each question.
Next, use the grid to find the letter that corresponds with each answer and write it in the egg.
Then crack the code. The first one is done for you.

Questions: Why was the rabbit rubbing his head?

1. 10.03 a.m. to 1.46 p.m. = 3hr 43m 8.7.16 pm. to 2.27 a.m. = Thr 11m

2.8.11 a.m. to 10.48 a.m. = 2hr 37m 9. 3.13 p.m. to 9.27 p.m. = 6hr 14m
3.7.22 p.m. t0 9.18 p.m. = 1hr 56m 10. 3.38 a.m. to 9.16 a.m. = 5hr 38m
4, 4,23 p.m. to 8.29 p.m. = 4hr 06m 11.11.17 p.m. to 4.28 a.m. = 5hr 11m

5.8.54 am.t011.19 a.m. = 2hr 25m 6hr 45m

12. 5.03 p.m. to 11.48 p.m.

6. 4.37 p.m. to 0.18 a.m. = 7hr 41m 13.2.37 a.m. to 10.22 a.m.

]

7hr 45m

7.9.55 a.m. to 4.23 p.m. = 6hr 28m 14. 4.16 p.m. to 1.08 p.m. = 8hr 52m

Answer 2hr 37m | 6hr 14m | 6hr 52m | 7hr 41m | 1hr 43m | 3hr 43m | 7hr 11m | 5hr 24m | 2hr 10m
Letter e g b a f h e o a
Answer 2hr 25m | 7hr 45m | 8hr 40m | 1hr 56m | 5hr 38m | 6hr 45m | 5hr 11m | 8hr 52m | 6hr 28m
Letter d h r h g c a e n
Answer:
h e h a d a n
e g g a c h e!
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